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£ 1 i3] = M= | B & i) & ) iF &
EHEITEE 1 oy 240,850,361
a8 & 1 = 78,119,639
HEREE 1 = 15,333,910
RIGEHRE 1 = 29,354,264
— iR ERE 1 = 33,431,465
=1 B (I+1) 318,970,000
HERBELNEE | 10 % 1 = 31,897,000
w &3 (I+0+Im) 350,867,000
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(2 B BINER)
No. % FR HE | B & &8 & 3 i &
BEETEE
Al [BEIEFHERESD) 1 = 125,708,895
A2 (BETE(RERESD) 1 = 31,340,694
Bl [EXREIEFHERED) 1 2 31,285,872
B2 [EXHRmIE(BUERED) 1 = 9,467,926
Cl [MWRIBITEGHERED) 1 = 23,107,737
C2 [HMmRis TE BUERED) 1 = 19,939,237
B 240,850,361
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(2 B AIAER)
No. % R ¥E BN £ ] & ] & &
A EBRISRE (BEISHERES)
1 [fhaksETs 1 = 33,210,798
2 [FETXEEHELS 1 = 92,498,097
5 125,708,895
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(%1 HAINER)

No. £ FR HE | B & ] = ) & &
ERIZFEEEHEISR)
1 [E#R&ETE 1 2 596,856
2 |£I= 1 =X 486,176
3 [MEIE 1 =X 5,008,138
4 |HBHIE 1 2 1,153,850
5 [av9)—+IE 1 =X 2,346,186
6 |BRIE 1 X 1,128,720
7 |H%BIE 1 =X 3,220,899
8 [BE®aV)—+IE 1 =X 2,784,140
9 [BAkIE 1 = 2,805,201
10 [ KI%E 1 =X 804
1 |BERRUENTIE 1 X 419,394
12 |[&BIE 1 = 5,522,805
1B |EEISE 1 =X 805,977
14 [ZET=E 1 = 4,330,700
15 [HZRIE 1 = 13,140
16 RSN ETISE 1 X 2,191,632
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(%1 HAINER)

No. £ FR HE | Hf &= %8 ) & &
ERIZEFECXEENREIS)
1 [EERERIE 1 = 1,593,644
2 |x1= 1 = 682,833
3 [MEIE 1 =X 9,831,779
4 |HBHIE 1 2 1,992,980
5 [av9)—+IE 1 =X 3,259,227
6 |BRIE 1 2 1,534,151
7 |HEBEIE 1 = 12,648,666
8 [BE®aV)—+IE 1 =X 6,734,420
9 |BhKIE 1 =X 5,323,930
10 (F-#EISE 1 =X 165,210
11 |[KRI%E 1 = 982,690
12 [BRRUVENIE 1 Fa 701,496
13 |EBISE 1 X 8,323,476
14 |EEISE 1 = 1,240,618
15 [@ETE 1 = 6,267,000
16 [HZRIE 1 = 425,674
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17 |2&ETE 1 =X 226,305

18 |NNNETE 1 = 6,643,198

19 [2=whRUZDMIE 1 =X 23,920,800
B 92,498,097
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(2 B AIAER)
No. % R ¥E BN £ ] & ] & &
A2 |ERTIRE (BEISHERES)
1 |BFRREIE 1 = 22,613,641
2 SMEZDIIE 1 = 8,727,053
£ 31,340,694
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(BB BANER)
No. % FR HE | B & &8 & 3 i &
EEIREEIFEIUEISE)
1 [EERETIE 1 2 1,839,751
2 |FKREISE 1 = 12,129
3 MEREISE 1 2 278,540
4 |BERETE 1 2 13,519,206
5 (RERETSE 1 - 4,814,908
6 |(ZEERETE 1 2 1,588,900
7 |BAERETSE 1 = 176,108
8 IRIEERELSE 1 = 7,421
9 |FEHNIR 1 = 376,678
B 22,613,641
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No. % FR HE | B & &8 = %A i &
EEIFBEOMETOMIE)
1 SIS 1 = 2,803,004
2 |MKEEKISE 1 X 1,267,975
3 [#EI=E 1 = 1,346,200
4 | ZOMITEYMIE 1 = 1,963,577
5 |BEISE 1 E 1,346,297
& 8,727,053
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(12 B AINER)

No. % 1 = | Hi + % * ik
BEEIEE

Bl |EREIELIE (FERES) | = 31,285,872

B2 |EREIELIE (HERES) | = 9,467,926
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(L B AN ER)

No. % R ¥E | B £ %8 & ] o

Bl |EXEEIE(HERES)

(1][{#HEIE

1 [feE#& 1 2 26,912,861

2 |FETXER 1 4 4,154,923

3 |KERE 1 2 218,088
B 31,285,872

B2 [BERBRBIE (KERESN)

O E

1 [BIFEE& 1 2 9,038,186

(31{sEL=

1 [SMEIS 1 ok 486,915

(4] | REMLS

1 [REHLS 1 ;% A 57,175
B 9,467,926
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(F2B AIAER)
No. % FR HE|BAM| = % = 2 ik &
BEiEIEE
Cl |HHWRIELIE HEZES)
(1] [FHFEIE 1 X 23,107,737
H 23,107,737
C2 |l TE (HERE )
(2]|ZETE 1| = 10,371,893
(Bl|5MET=E 1] = 9,567,344
5 19,939,237
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(%l B AINER)

No. £ o WE|BAu| = %8 %8 i &
(1]|#HETE
I [f6B&
1 | ZERERAFNE = 1l 2,576,670
2 |[=REXfE 1l X 3,115,220
3 [FtEEkiR 1l & 51,257
4 |EERERRE 11 =X 754,400
5 |#aKER(lE 11 =X 663,250
6 |HEKEX R 1l =X 858,340
7 (6w lm 1l 2,897,340
8 | RER 1 =X 426,000
B 11,342,477
I [FETXER
1 |ZK[EAME 1l =X 3,488,490
2 (TR 1l 1,682,176
3 |FTE&EEx(m 1l =X 100,534
4 |BERERR 1l 4,370,500
5 |¥aKER(E 1 =X 489,090
6 |BEKER R 11 1,562,430
1 |fama&lE 11 X 72,040
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op

No. 2 FR HE| B = # % " %
£ 11,765,260
5 23,107,737
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(% B AINER)

No. £ 7 = | B il 4] %5 & &
I [MGB&
1 |Z=ERAMEE
(1) B3R 1] & 1,868,680
(2)EdE &R 1] X 707,990
& 2,576,670
2 |BARER(E
(1) HER%1E 1] K 918,800
(2)FH &R 1] & 2,196,420
1 3,115,220
3 |ETEElE 1 = 51,257
] 51,257
4 |FEFEXRE 1] & 754,400
Bl 754,400
5 |#8/KEE 11 K 663,250
B 663,250
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(% B AINER)

No. £ 7 = | B il 4] %5 & &
6 |HEKERE 1] X 858,340
B 858,340
7 |#65%E 1] & 2,897,340
1 2,897,340
8 | RE&(E 11 K 426,000
1 426,000
& 5 11,342,477
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(% B AINER)

No. £ 7 = | B il 4] %5 & &
I |[FBCTXER
1 |Z=ERAMEE
(1) B3R 1] & 1,652,600
(2)EdE &R 1] X 1,835,890
& 3,488,490
2 |BARER(E 1] =%
(1) HER%1E 1] K 619,886
(2)FH &R 1] & 1,062,290
1 1,682,176
3 |ETEElE 1 = 100,534
B 100,534
4 |FEFEXRE 1] & 4,370,500
Bl 4,370,500
5 |#8/KEE 11 K 489,090
B 489,090
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(% B AINER)

No. £ 7 = | B il 4] %5 & &
6 |HEKERE 1] X 1,562,430
B 1,562,430
7 |#65%E 1] & 72,040
1 72,040
& 5 11,765,260
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(%l B AINER)

No. £ a3 WE| B = 3 3 5 &
(2]|2fET=
I e
1 |ZEREFMERRE 11 = 3,341,050
2 (HKER(E 11 & 832,730
3 |FHE&EER(R 11 = 53,433
4 |BEHREHKE 1l & 2,493,500
5 |$8/KEXfm 1l =& 843,695
6 |BEKERTE 1l & 437,055
7 |¥eZekdE 11 = 1,454,330
8 |HREMR 11 K 160,000
9 WEIE 11 = 696,000
10 [FEAMLE 11 K 60,100
a & 10,371,893
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(% B AINER)

No. £ 7 = | B il 4] %5 & &
I |BIEESH
1 |Z=ERAMEE
(1) B3R 1] & 2,220,400
(2)EdE &R 1] X 1,120,650
& 3,341,050
2 |BARER(E
(1) HER%1E 1] K 809,660
(2)FH &R 1] & 23,070
1 832,730
3 |ETEElE 1 = 53,433
] 53,433
4 |FEFEXRE 1] & 2,493,500
Bl 2,493,500
5 |#8/KEE 11 K 843,695
B 843,695
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(% B AINER)

A 1 = | B o4 4] o4 %5 & &

BEKER fF 1] X 437,055
B 437,055
WHmRiE 1] & 1,454,330
1 1,454,330
T REEE 1] & 160,000
& 160,000
BEIE 1] & 696,000
B 696,000
FHAEMUIE 11 =X 60,100
B 60,100

& & 10,371,893
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(%l B AINER)

No. £ FR HE|BEAMH| = % % & &
(3]|sMET=
I PMETE
1 |ZEKERFEK R 11 =K 63,200
2 [BHMEKERAE 11 & 1,004,763
3 |ESMEEKER R 11 =K 3,922,795
4 |RiZHKlE 1] & 43,256
5 |H AR 11 =X 2,965,000
6 [WELSE 1| =% 1,560,000
7 |FEEMNE 11 & 8,330
a 9,567,344
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(% B AINER)

A 1 = | B o4 4] o4 %5 & &

NEIE
ERAFEE 1] X 63,200
B 63,200
BV EKEE 1] X 1,004,763
1 1,004,763
B KRR 1] K 3,922,795
1 3,922,795
WwmRiE 1] & 43,256
B 43,256
BRI E 1] X 2,965,000
B 2,965,000
BEIE 1] & 1,560,000
B 1,560,000
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(% B AINER)

No. £ 1 = BEAL il ] & ] g &
7 |REMNIE 1] =X 8,330
= 8,330
= H 9,567,344
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